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General Instructions :

(1)  All questions in both the sections are compulsory.

(i)  Marks for questions are indicated against each.

(ilii) Questions No. 1 -5 and 17 -21 are very short-answer questions
carrying 1 mark each. They are required to be answered in one
sentence each.

(iv) Questions No. 6-10 and 22-26 are short-answer questions
carrying 3 marks each. Answers to them should normally not exceed
60 words each.

(v)  Questions No. 11 — 13 and 27 — 29 are also short-answer questions
carrying 4 marks each. Answers to them should normally not exceed
70 words each.

(vi) Questions No. 14-16 and 30-32 are long-answer questipns
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

(vii) Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.

= qAEer ¢ :

G)  aH @vel ¥ w3 S 8

(i)  J9% 599 & [79iRa 3iF 39% G5 oT 10 & |

(i) 599 G 1-5 a9 17 - 21 3T TRreds 557 2, o9 g% & 1 5%
2 | s 3T I uH A H & T E

(iv) ¥¥9 G 6 - 10 3K 22 - 26 TTRITF J¥7 £, 577 9% & 3 3% & |
Y% & I =T 60 VI G 3o 75T & TET

(v)  ¥97 T 11 - 13 3R 27 - 29 f agwwews 797 5, 570 59% & 4 3%
&g | 9% 1 IW T 70 = 7 SHF T F qew

(vi) ¥97 G 14— 16 3% 30 - 32 SEHF 377 757 597 & [0 y9F &
6 3% & | Y9% T I qErar 100 Vi@ § HUF T8 & TR
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SECTION A

@ ug H
1. Why does an economic problem arise ? : 1
s wEn F 39 et 8 2
2.  When is the demand of a commodity said to be elastic ? 1

TF g5 H AT B ACR F9 wE S § 7

3. Define variable costs. ' 1
fEdl el S s ST |

4. What causes an upward movement along a supply curve ? 1

If @ W TR F I T F OFA BT & 2

5. Define marginal revenue. 1

Hi "ot & 9t €S |

6. Explain the problem of ‘how to produce’. 3
‘Y IR P FI G THIET |

7. Explain the law of supply with the help of a supply schedule. 3
TF ufd Syl @ Wewdr ¥ ufd & fram &t =men S |
8. Draw a straight line demand curve and show on it a point at Wilich
(i) price elasticity of demand > 1
(ii)  price elasticity of demand < 1
(iii) price elasticify of demand = 1 , ' 3
TH W @ aren A6 g% b R 3 W fag faant e w
i) AT W FEG e > 1
(i) | # FHT A= < 1
(i) T F FAT A@F = 1
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For Blind Candidates only in lieu of Q. No. 8
Hae gEEN udanadl & foe U9 €@ 8 & WH W
What is meant by price elasticity of demand ? If elasticity of demand

of a commodity is less than 1, what will be the effect of a fall in its
price on total expenditure on it ? Explain.

i @ Fwa A woF o R 2 Ak uw g W AT S A9 1% 9 2, A
wﬁﬁmaﬁwww@ﬁmﬁmmww—dﬂT?Wa

9. Explain consumer’s equilibrium in case of a single commodity, through
the utility approach.

OR

Explain the law of diminishing marginal utility with the help of a
utility schedule.

ST e @ weE ¥ wF aw @ R § s S T
g

T SYElEl e W WeEd W GEEH W swEw 5EE F s

FIT |

10. How is the supply of a commodity affected by changes in the prices of
other commodities ? Explain.

I gl F Fvdl H ufeddl ¥ U 9§ I0 59 e @el g 7
HHIET |

11. Explain with the help of a total product curve the meaning of

increasing returns to a factor.

FNF F FUAE (Fg0) Wma # &d & Fol IR IF F TEEd ¥ GHEY |

For Blind Candidates only in lieu of Q. No. 11
Fae e whanfial ¥ fw o v 11§ e W

Explain the meaning of increasing returns to a factor with the help
of a total product schedule.

WWW#W@W%WWWMW1
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el il Bk o y £
ratas ol eiasucity of suppiy ol

commodities A and B is 1 : 1.5.
20 percent fall in price of A results in a 40 percent fall in its supply.
Calculate the percentage increase in supply of B if its price rises from

Rs. 10 per unit to Rs. 11 per unit. 4

A 3R B asgel & Ofd @ o9 # gua 1: 158 | AW dimd 20 Y
929 ¥ IS qfd 40 ¥favd wedi @ | 3 B # FWd 10 & ¥d IHR § dga
11 % 3G 35% ot 8 o U ufd § @9 A e gfg @ uReen ST |

13. Explain “large number of buyers and sellers” feature of perfect

competition. 4
OR
Explain “freedom of entry and exit to firms” feature of perfect
competition. : : : 4
qui i s “agt He § shar ik faskar” favivar @ueRw |
gl

oo sfeeifrar & T F oW SR fEm # @ R TRy |
14. Giving reasons, state whether the following statements are frue or
false - 6

(i) A producer is in equilibrium when total cost and total revenue
are equal.

(ii) The difference between average total cost and average variable
cost decreases with decrease in the level of output.

(iii)) When marginal cost rises, aﬁrerage cost will also rise.
FRY I §C SORC F et s @ § @ e

() & Fol AP SN F GiE aeR e § df Iches Sqoe & fafd F g
g I

(i) STEA H WR "4 W G FA @M IR FEd IRadt ana & SR g
g |

(i) V9 9w @ aed ], @ sieg @rE o s
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15.

16.

17.
18.

19.

20.

21.

Explain three causes of a shift in demand curve of a commodity.
OR

Explain the difference between ‘decrease in demand’, and ‘decrease in
quantity demanded’ with the help of a demand schedule. Give two
causes of a decrease in demand.

TS gR % A 9% & fEEEs & O SR B A FHS |

g
TE AT egEl @ WEmar ¥ m H & SR Hh-mm ¥ e @ R
HUERT | AT H R & FA0 FAR' |

Define equilibrium price. How is it determined ? Explain with the help
of a schedule.

HqeH FWa 1 o S | 97 &9 i # S @ 7 U SEE @ S
§ gHERy |

SECTION B
g us §

Can the value of average propensity to save be negative ? If yes, when ?
1 3igd F9q g H U BT o §EaT ¢ 7 A &, df 9 ?

Why is income tax a direct tax ?

AT I K 4 e & 2

What is the relationship between marginal propensity to save and
multiplier ?

g s9d Y9 @it e § o weey g @ 2

Give the meaning of deflationary gap.

aifas 3=aUd &34 FaRT |

Give the meaning of demand deposits of commercial banks.

Ffvfsges di & H SRl H 3 FaRu |
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22. Calculate net value added at factor cost from the following data : g

(Rs. is crores)

(1) Purchase of machinery to be used in the production unit 100
(ii) Sales : 200
(iii) Intermediate costs ' 90
(iv) Indirect taxes 12
(v) Change in stock 10
(vi) Excise duty 6
(vil) Stock of raw material 5

frfafad siesl § aRa ard W fad affa 90 &1 fead i

(7. FT )
(i) SERA @R ¥ @0 & for aid | A 100
i)  feshl ' , 200
(iil) ~ HeFEdl AT _ 90
(v) IAHIT X i 12
(v) ®is ¥ gfiEad - ' 10
(vi) A IH | 6
(vi) F= UE & ©F 5
23. Explain any two functions of a commercial bank. 3
OR
Explain any two functions of a central bank. 3
S aftfers §% & fFE o FE B S i |
AGAl

TH Hd dh & fhel o HA H A DT |
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24. Complete the following table :

Income Consumption | Marginal Propensity | Average Propensity.
to Save to Consume
0 12
20 26 e S
40 40 el . Lk
60 54 Syl o gl s
frafafea afasr & qu FIFT -
Cip) U dmid = g 3Fq I Vg
0 12
20 26 Al i
40 40 Lo i
60 54 ey i

25. List the types of transactions that are recorded in the current account
of balance of payments account.

TAH e @ % e @ # afeEd U 9 ae de & R @ g
IR | :

26. How can a government budget help in reallocation of resources in an

economy ? Explain.
= sdoraw H GEEAl W O oEed & ¥ gl awe ¥ WEE 8
TET O ? WHERY |

27. Explain two merits and two demerits of fixed foreign exchange rate.

fer faesh fafm @ & 3 i &R § el &t e Fife |

58/2/1 8



28.

30.

58/2/1 9 P10,

Explain the basis of classifying government receipts into revenue

receipts and capital receipts. Give two examples of each.

OR

Explain the meaning and implications of fiscal deficit.

‘maﬁwm&lﬁr Cirl I mﬁaﬁﬁw%kwaﬁ
== FC | 7&F F o I/ AT |

e
TN AR % a1d SR WuEl & = i |-

State any two problems of barter system of exchange. How does money

solve them ?

a5 fafma ot A FE QS9N AR | gE S 9NEE Y & 8 2

While calculating national income of India from its domestic factor
income, how will you treat the following ? Give reasons for your
danswer.

(i) Salaries received by Indians working in branches of foreign banks

in India.
(ii)  Profits earned by an Indian bank from its branches abroad.

(iii) Rent paid by embassy of Japan in India to an Indian resident.

IR F 9T SRS A ¥ P AE w1 ufiEed w0 w9 A frefafed & 9
N R A 7 I’ W & AU FROT T |

(i) faceh 991 & ARG ¥ yrEel § sRia wRdE # owe 6 |

(ii) @W%‘Ewraﬁﬁ%ﬁwﬁ@aﬁﬁwz

(i) 9G¥ S9E & qOEW 50 TF qRa et @ fear m fem



31. C =100 + 075 Y is a consumption function (where C = consumption
expenditure and Y = national income) and investment expenditure is
800. On the basis of this information calculate :

(i)  equilibrium level of national income

(i1) savings at equilibrium level of national income
OR

In an economy, aggregate demand is less than aggregate supply. Is
the economy in equilibrium ? If not, explain the changes that will
bring the economy in equilibrium.

C =100 + 0:75 Y U% 3997 T 8 (& C = 3T =7 941 Y = qPF 379)
3R faw =g 800 ® | 39 §uAT & ER fefafad &1 ieeq Fifew :

@) e o w Haf ®R
(i) TP 3 & Hqod WX | a9

g
UF werawr # @y AT wHY ufd § @9 2 | srdferawn dqed @ fufa F
g 2 Afg A&, @ 39 dfEdql @ =ren Fe S 39 dqeq & fefd § and |

32. From the following data, calculate “national income” by (i) income
method and (ii) expenditure method.
(Rs. in crores)

(i)  Net domestic capital formation : 360

(ii) Interest 200
(iii) Rent 300
(iv) Private_ final consumption expenditure 1300
(v)  Government final consumption expenditure 730
(vi)" Net exports _ (=) 20
(vii) Net indirect taxes j 70
(viii) Net current transfers from rest of the world 80
(ix) Consumption of fixed capital 60
(x)  Net factor income from abroad () 50
(xi) Profits R 600
(xi1) Compensation of employees 1200
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frfafad sfieel | (i).aﬂzr fafer, 3t (i) =g7 fafy g “afm o’ @ it
FHIfST -

(5. gl )
(i) fraa < geh famfor 360
(ii) - =& 200
(i) fetEn 300
(v) fosft stfeqm 3T =3 1300
(v) TR oIf<m 3us =™ 780 -
(vi) Traer frafa (=20
(vi)) fHae 9 & 70
(viii) 3 fovg & fraa $ofiqe gwaiawo 80
(ix) fer Gt &1 3T 60
(x) focun § faa #& 3™ | (=) 50
(xi) <™ 600
(xii) wHEIRA H TRAR 1200
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